domi

outdoor living

PACKAGE DELIVERY BOX
ASSEMBLY MANUAL

/\

—%

e

——

SKU: LNCF0598

Missing part? Damaged? Contact us via email at

service@domioutdoorliving.com

www.domioutdoorliving.com

© Copyright 2023-2025 domi LLC. All Rights Reserved.




BEFORE STARTING ASSEMBLY

(D Please check all parts and components to ensure that there
are no damages or missing items BEFORE starting the
construction of the product.

@) For ease of construction, you may need a Power Drill
(Cordless, Variable Speed).

@) It would be much easier to assemble the product with two
or more people.

@ Some parts have metal edges. Please be careful when
handling components.

IMPORTANT: Please contact Customer Service if you have
any problems or discover any missing parts.

) USA & Canada:
) 1-833-807-3550




]

E [ ® (e @/mM |m $ ﬁ
in
- i
I
IS .
hE S — @\uo\w B 1
ﬂ 20.66"(524.8mm) \4‘ ‘.‘Mo.mm__aﬁ.mia\a
| __DELIVERIES _
€
£
5 —
™
<
ER
EW
O O —~
2 S
8§
= |ofl
3|8
2 &
e
™
F |/
20.51" - 21.89"
(520.9mm) (555.9mm)

I

[ /I_I\:

__|F
=




[

1X

A

Back Panel

Side Panel

c

>

1X

‘ =l

Side Panel

Lid Panel

(E) 1X

Box Door

S

S
S
©
Metal Bracket

O 4X

"

|

Door Reinforcement Frame 1

5

STS* 20

ST5*20 Screws

) 14X

Accessory
Door Latch

K

—_—

|

M5*10 Bolts

L

2

M5*10 18X

W

M@] M4*10 Bolts

M4*10 8X

]

Gloves

1X

P

- ]

Screwdriver

1X




Side Panels and Back Panel Assembly

Step 1:

Attach the Back Panel #A and Side Panel #B together, securing them
with 2 Metal Plate #G and 8 Bolts #L(M5*10). Repeat above procedures
to install Back Panel #A and Side Panel #C.

Please note the distinction between Side Panel #B and #C. (# C has

two hinges.)

Step 1:




Base Panel Assembly

Step 2:
Place the Panels #A,#B and #C on the Base Plate #D, align the holes and
secure them with 6 screws #J(ST5*20) as shown.

Step o /Eﬁ

ST5* 20

J 6X




Accessory Door Latch Assembly

Step 3:

Insert the Accessory Door Latch #K into the hole of the Side Panel
#B(from inside), and secure them with 2 Bolts #M(M4*10).

Step 3:

ale

e

M Max10  2X

After Installation




Door Reinforcement Frame Assembly

Step 4:

Make sure the side of the Door Reinforcement Frame #H with the holes is
facing down. Insert it from the front and adjust its position to align with the
screw holes on the Side Panels #B, #C, and the Base Panel #D.

Use 4 Screws #J(ST5*20) to secure the Door Reinforcement Frame #H to
the Base Plate #D.

Use 2 Bolts #L(M5*10) to secure the Side Panels #B, #C with Door Rein-
forcement Frame #H.

After Installation

Keep the holes at the bottom

H 1X

@,

L M5*10 2X

iy

ST5* 20 Secure H and D together
J 4X

Align the holes




Lid Panel and Box Door Assembly

Step 5:
Put Lid Panel #E on Side Panels #A,#B and #C, align the holes and

secure with 4 Screws #J(ST5*20) from bottom to top.

@% Step 5:

iy

ST5* 20
J 4X

Step 6:
Attach the Side Panels #C to Box Door #F using the hinges on Side

H Panel #C, and secure them with 6 Bolts #M (M4*10).




domi

outdoor living

Thanks for your purchase.

At domi outdoor living, we believe in our products.
That’s why we provide a 12-month warranty and
friendly, easy-to-reach after-sales service. So,if you
have any questions about our product or assembly,

please feel free to contact us. We are here for you.

Support: 0

After-sales contact email:

service@domioutdoorliving.com

Business cooperation contact email:

marketing@domioutdoorliving.com

Please have your order ID available if youreach out
for support.
Ifyou have damaged parts or product, please send us

photos for an immediate response.

© Copyright 2023-2025 domi LLC. All Rights Reserved.




